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1. Options shown in green color

with a tick icon are correct.

2. Chosen option on the right of the question indicates the option selected by the candidate.

A € u od/098 - T & @ - CEN 01/2019- NTPC

1 F Heh FId e

Q.1 wF 7 S==T ST 10% 7 o187 FAe 31 TS 98 & 2150 & & §=an, & 39 5% i g @ g

ans 1. 2500
X 2 31250
< 3. 3750
+ 4 71000
Question ID : 94891114657
Option 11D : 94891158625
Option 21D : 94891158628
Option 31D : 94891158626
Option 4 ID : 94891158627
Status : Answered
Chosen Option : 4
Q.2 : 4 :
g7 f&fE (PARAM Siddhi) T T LT g
Ans X i d
1. g=fEeger Rafder
7 2 I TeT
v 2 FTAA AT T TF g T
X 3 v AfAHT et
p %ﬁ' SIYHIOT
Question ID : 94891112937
Option 11D : 94891151748
Option 21D : 94891151746
Option 31D : 94891151747
Option 41D : 94891151745
Status : Answered
Chosen Option : 2




Q.3 37 fFeT & T Sifavw O g o=t & = A9 g9y 7 &, 39 g9 3w Heedr § ffr Aw

gt el % a1 B

A K s - g
V2 F5 - faFga
X o FT - @G
X 4 =TT - U

Question ID : 94891113093
Option 11D : 94891152372
Option 2 ID : 94891152371
Option 31D : 94891152370
Option 41D : 94891152369
Status : Answered
Chosen Option : 2
Q4 2
= T iR ®F FT gEm?
Ans X1 75%
X 2 20%
v 3 40%
X 4 50%
Question ID : 94891114655
Option 11D : 94891158620
Option 21D : 94891158617
Option 31D : 94891158618
Option 41D : 94891158619
Status : Answered
Chosen Option : 3
Q.5
399 Far W aeT asfea ey &9 7= T 87
Ans #i 1. 3 HNH
X26#A%
X347
X4 6T
™,
Question ID : 94891112933
Option 11D : 94891151731
Option 21D : 94891151732
Option 31D : 94891151729
Option 41D : 94891151730
Status : Not Answered

Chosen Option :




Q.6 R v Fuet A Frwst & caEE W) FUA F & T TAEE I T AT g, o9 & T
AT AT aedt @ e gda g g, v fifee @l m@r (@) B Re s suat @ arfée
TT W el el § (F 81
FU:
1. FT Fee ae §
2. FE T arer TeuT AE ¥
oy
A FT FEE T E

B T et e

A F ar s A it 7 & B B ares @ B
X 2 Fhaer Ty A 9o Far gl
X 3 Fhaer TS B 9o Far gl
X 4 feey A 3t B 2= 9o F1a 2

Option 11D

Option 31D

Status

Question ID :

94891113082

194891152328
Option 21D :

94891152325

194891152326
Option 41D :

94891152327

: Answered
Chosen Option :

1

Q.7 fir 7w 3m@ F g it s wE SEE TEOE T w1 Soo dfew) s # & o e 3w
e =1 F ot #r e ¥

Pen

et W (Suns), F1 (Ears) §7

Ans x 1. 8
<26
<311
vig
Question ID :
Option 11D
Option 21D :
Option 31D
Option 41D :
Status :
Chosen Option :

94891113098

1 94891152391

94891152392

1 94891152390

94891152389
Answered
1




@ ronfaes gonfawt Ot R SEEt By gerfam F S
X ScaehfaaT ¥ g 3R 9 W R A #
X 2 ggErer & Ow afFens &
X o GRTTER F ARl H GoANH AT §T IS S @
ViFga Te TV EaT A o S §

Question ID : 94891112914
Option 11D : 94891151654
Option 21D : 94891151655
Option 31D : 94891151656
Option 41D : 94891151653
Status : Answered
Chosen Option : 4

Q.9 Chandrayaan-2 was launched on 22 July 2019. Which of the following about it is INCORRECT?
Ans 1. It brought together an Orbiter, Lander and Rover.
v

The goal of the mission was to explore the North Pole of the moon.

503

It was launched from the Satish Dhawan Space Centre, Sriharikota.

&4

It was the second lunar exploration mission developed by ISRO.

Question ID : 94891112931
Option 11D : 94891151722
Option 2 1D : 94891151724
Option 3 ID : 94891151721
Option 41D : 94891151723
Status : Answered
Chosen Option: 3

Q10 fyg (1, 5) F €T TR =Tel 3T W x - y = 5 F TS [WT FT FARIOT FT EE?
Ans x1x_y:4

K2zy—x=4
X3x—y=6
vix+y=6

Question ID : 94891114669
Option 11D : 94891158674
Option 21D : 94891158673
Option 31D : 94891158676
Option 41D : 94891158675

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.11 As per the Constitution of India, who does NOT form the Council of Ministers?

Ans

/< 1. Ministers who are members of Cabinet
/< 2. Ministers of State

+ 3 Ministers of local government

/< 4 Deputy Ministers

Question ID : 94891112927
Option 11D : 94891151707
Option 21D : 94891151706
Option 31D : 94891151705
Option 41D : 94891151708
Status : Answered
Chosen Option : 3
Q.12 e

B, A & A 2

C, D & o915 Bl

B 3k C, D 3R E, F 3k G &= Rafew g7 &)

F, E % T g

B, G & &g g Tafag g2

Ans "
v TF BT Teedr
X 2o g & 9
= 2
X3 or
X a4 A
a3
Question ID : 94891113075
Option 11D : 94891152300
Option 21D : 94891152298
Option 31D : 94891152299
Option 4 ID : 94891152297
Status : Answered

Chosen Option :

1

Q.13 fu 7w Rwed # ¥ 37 92 F TS R, S AT @ F wARES (7) F TWE W A T

Ans

l
24XV, 35UR, 48QM, ?

X 1. 65LH
v 2 83LG
X 2 63MH
X 4 80LG

Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891113084
94891152334
94891152335
94891152333
94891152336
Answered

2




Q1 Srmfafea # @ #ia @ TAT THART (NH) qo7 3R Yegrare 1 siear 32

Ans x 1. AT {N H) -
v 2 TaTE (NH) -
X 3 waTT (NH) -
X 4 T (NH) -
Question ID : 94891112926
Option 11D : 94891151704
Option 21D : 94891151703
Option 31D : 94891151702
Option 41D : 94891151701
Status : Not Answered
Chosen Option : --
Q.15 is a hardware device generally located on the motherboard of a computer and acts as an internal memory of
the CPU.
Ans X1 Floppy
v 2. RAM
X 3. DVD-ROM
X 4 CD-ROM
Question ID : 94891112938
Option 11D : 94891151752
Option 21D : 94891151749
Option 31D : 94891151750
Option 41D : 94891151751
Status : Answered
Chosen Option : 2
Q.16 #Ra & T TIH H HRA BIE HiEed H FEeTI0r sfAE At W e F A e # ¥ HiT
o wear afeq §$ ofr?
Ans =
&A1 grEr I
v 2 gea Fr oET IR F 9RF 7 FRae e der
X 3 Trore f&er
p
fifeer s & aiter $Ear FiFasw et wrgr §'§:
Question ID : 94891112921
Option 11D : 94891151681
Option 21D : 94891151682
Option 31D : 94891151684
Option 41D : 94891151683
Status : Answered
Chosen Option : 2




7 (24v8) — (2-vB)" = =W W P

Ans X 112045
K2 1245
V'3 14445
X 4 9645

Question ID :
Option 11D :

Option 2 ID
Option 31D
Option 4 ID

Status : Marked For Review

Chosen Option :

94891114652
94891158607

1 94891158605
1 94891158608
1 94891158606

Not Attempted and

Q.18 e RRTT e o7 & LIFE 1 GHKN & &7 & fRr@r sar §1 367 &1 & PORT & B 91 &

o Sree?
Ans X1 QPSU
X 2. USPQ
v 3 VTQR
X 4 RQVT
Question ID : 94891113078
Option 11D : 94891152310
Option 21D : 94891152311
Option 31D : 94891152312
Option 41D : 94891152309
Status : Answered
Chosen Option : 3
Q19 fr 9 xlog(x) = log(9) +log(27) + log(81) & & x FT AT AT AT
Ans x 1. 2
<21
<3 4
V43
Question ID : 94891114666
Option 11D : 94891158662
Option 21D : 94891158661
Option 31D : 94891158664
Option 41D : 94891158663
Status : Answered
Chosen Option : 4




Q.20 We should consider the value of final goods only while estimating GDP because:

Ans x1.

the value of intermediate goods includes the value of final goods

7% 2. it increases the cost

v &)

the value of final goods already includes the value of intermediate goods

/< 4. Tt promotes production process in the economy.

Question ID : 94891112940
Option 11D : 94891151758
Option 2 ID : 94891151757
Option 31D : 94891151759
Option 4 1D : 94891151760
Status : Answered
Chosen Option : 3
Q21 trAmdemdr Ak F=E e mait 5 m ¥ 57 ¥ ¥ 3 m e & o 39 e Tww &
T &2
Ans x 1. 8
V25
X310
X4 4
Question ID : 94891114665
Option 11D : 94891158659
Option 21D : 94891158658
Option 31D : 94891158660
Option 41D : 94891158657
Status : Answered
Chosen Option : 2
Q.22 Hergen & B woR F Rdgs (Fe) 9o Fo 9@ §) Bl & @ 39 o 398 @ o a6 22
e X0 el fdws
v o BT
X3 aF BT
X 4 grareT TdTs
Question ID : 94891112928
Option 11D : 94891151710
Option 2 ID : 94891151711
Option 31D : 94891151712
Option 4 1D : 94891151709
. Not Attempted and
Status . Marked For Review
Chosen Option : --




Q.23 fF=fafea & @ w9 O ang & ge Avenfe &9 @ vafg g = w7 @ afiefeug it R
ifafres e TAgedr (SSBN) 7

A 1 INS sfET
X 2 INS =%
X 3 INS T
X 4 INS Ferair

Question ID : 94891112930
Option 11D : 94891151717
Option 21D : 94891151720
Option 31D : 94891151718
Option 41D : 94891151719
Status : Answered
Chosen Option : 2

Q24 7 a7 3T F ITAA FTHT 3R HET 3T TIOT T F 3eaT ST
yes Afgenat #, o7 w@H B AR TGS TR A F w2l F=ar F

Ans x1_ 57

Question ID : 94891113096
Option 11D : 94891152381
Option 21D : 94891152382
Option 31D : 94891152383
Option 4 ID : 94891152384
Status : Answered
Chosen Option: 2




Q25 (p,02)x(0.05)x(L.5)
0.0225

Ans X 1.0.15
/<2 0.05
V'3 0.1
X415

FT AT A HIiAT]

Question ID : 94891114649
Option 11D : 94891158595
Option 2 1D : 94891158593
Option 31D : 94891158596
Option 4 1D : 94891158594
Status : Answered
Chosen Option : 3

Q.26 TrmRRT Fua RBU v fwed #§ & B9 Bew W e dar 32
TR off 77 FF B @ S e IS g A HAOTEE # a9 BT T aSwd 5 g gl

X 1. Fem3T 1 FTAE (Law of Orbits)
v 2 g et @ TTHE (Law of Areas)
X 3. @ifg &1 FFF (Law of Motion)

X 4 3raat =1 @¥H (Law of Periods)

Ans

Question ID : 94891112915
Option 11D : 94891151658
Option 21D : 94891151657
Option 31D : 94891151660
Option 41D : 94891151659
Status : Answered
Chosen Option : 1

Q.27 fora 2020 7% WG AFEN F HFFAR, TUAHA THE FHEA0T AR HEAA SRS FEL F@
e T U THE s § et e § ¥ siv @, 5w wews & w v w6

Ans x1_
HI T TA H A9 Tl 0 FArr AfHF B SR F g sae oS

X 2

5w, THART G F AT F To v@w aFw F A e e w7 9Ebeae o o &
v 58 fe Ais & 11 B # o fGFr 7 2
p

§F WIS F TEd, TEw AfRE Fr amienr & aEr g e #v st fer s

Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

94891112943
94891151769
94891151772
94891151771
94891151770
Answered

2




Q.28 Two trains are moving in opposite directions with the speeds of 60 km/h and 25 m/s respectively. What will be the speed
of the second train with respect to a man sitting in the first train?

Ans 1. 85 km'h

X 2 35kmh
& 3 30 km'h
v 4 150 km/h
Question ID : 94891114662
Option 11D : 94891158645
Option 2 ID : 94891158646
Option 31D : 94891158647
Option 41D : 94891158648
Status : Answered
Chosen Option : 4
Q.29 gmmst 10, 25 v 35 % Hegeas THETESH (HCF) 3N ogeass TAMEA (LCM) #71 3o 71
HiraT)
Ans - X170 : 1
X21:35
/335 : 1
v+1:70
Question ID : 94891114651
Option 11D : 94891158601
Option 21D : 94891158603
Option 31D : 94891158604
Option 4 1D : 94891158602
Status : Answered
Chosen Option : 4
Q.30 3Fzew 2020 #, AEEA F A Seme fheR Sfteae (IFFB) & oiewess s T @
TraEa G e
Ans
1.
VAR Lt
X 2. TE T
/< 3. 9TETAT TSAT
& 4 FTET 9EeT
Question ID : 94891112904
Option 11D : 94891151616
Option 21D : 94891151613
Option 31D : 94891151614
Option 41D : 94891151615
Status : Not Answered
Chosen Option : --




Q31 WTO ws 3% e &1 WTO & Ty & eafaaa § @ &9 o 59+ 7oa &7

A X smer oY uios e ATt @ B
&2

AT T AT HIRH-ZIAT (Ngozi Okonjo-lweala) FIaa T TTAaT Hgfaee #|

o 3

SHS 0T ®F World Transport Organisation (355 ZrEaIE 3aE=ieH) gl

X 4 7g Teal & € IR & FOAr ¥ g9 2

Question ID :

Option 11D

Option 21D :

Option 31D

94891112934
1 94891151735
94891151736

1 94891151733
Option 41D :
Status :

Chosen Option :

94891151734
Answered
1

32 gfe x2:18:12: x & & x F TS AT FSTY

Ans x 1. 3
v26
X34
K45
Question ID : 94891114654
Option 11D : 94891158613
Option 21D : 94891158616
Option 31D : 94891158614
Option 41D : 94891158615
Status : Answered
Chosen Option : 2
Q.33
tan(15°) 1 AF AT PSATI
Ans
X1 2+43
X2 —/3-2
v 2-43
X4 4/3-2
Question ID : 94891114672
Option 11D : 94891158686
Option 21D : 94891158688
Option 31D : 94891158685
Option 4 1D : 94891158687
. Not Attempted and
Status : Marked For Review
Chosen Option : --




Q.34 Pisces are exclusively aquatic animals. Which of the following is NOT a characteristic of them?

Ans

/< 1. Their hearts have only two chambers.
+ 2. They are warm-blooded.

/< 3. Their skin is covered with scales.

/< 4. They obtain oxvgen dissolved in water by using their gills.

Question ID : 94891112912
Option 11D : 94891151646
Option 21D : 94891151648
Option 31D : 94891151645
Option 4 1D : 94891151647
Status : Answered
Chosen Option : 2
Q35 gfr x+y—403tx—y=20 & T x 3Ty F FETE gATESE (HCF) 79 #iEw)
Ans x 1. 40
v 2 10
<3 30
X420
Question ID : 94891114650
Option 11D : 94891158600
Option 21D : 94891158597
Option 31D : 94891158599
Option 41D : 94891158598
Status : Answered
Chosen Option : 2
Q36 What information about Engineers India Limited (EIL) is INCORRECT?
Ans " 1. Tt comes under the Ministry of Petroleum and Natural Gas.
X2
It is credited with establishing 11 of 12 mega petrochemical complexes in India.
v
It is a private sector undertaking of the Government of India.
p
It developed a state-of-the-art sports complex for the Commonwealth Games 2010 at the University of Delhi.
Question ID : 94891112939
Option 11D : 94891151753
Option 2 ID : 94891151755
Option 31D : 94891151754
Option 41D : 94891151756

Chosen Option :

Status : Answered

4




Q.37

I c+y=—2 & B x°+y%—6xy F AT AT AT

Ans x 1. 4
V2.8
X3 4
<48
Question ID : 94891114667
Option 11D : 94891158667
Option 2 ID : 94891158665
Option 31D : 94891158668
Option 41D : 94891158666
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.38
250 T T & &= g B
Ans
X1 536
X273k 8
X3 435
vig st 7
Question ID : 94891114653
Option 11D : 94891158610
Option 21D : 94891158612
Option 31D : 94891158609
Option 41D : 94891158611
Status : Answered
Chosen Option : 4
Q39 S & IRAEAR F Tey § PR § ¥ FiF a1 FuaT g 32
Ans « 1.
TET FHEA Fr AR AT HIT AgIEr ST =T FOHERT & 2
X 2
Tg 3ca¥, AT, 9@ 3 9fveE #r AR seRw AR sew Al WA @ gl
X 3. Tg AT H wFT F 39 F RAEAT T 8
X 4 30 1591 # HIgFAT Foll Hgs UME F FFT o7
Question ID : 94891112910
Option 11D : 94891151640
Option 21D : 94891151638
Option 31D : 94891151637
Option 41D : 94891151639
Status : Answered

Chosen Option :

1




0 ke ¥ gew F SRR § 3 F9 o wua e 3

A XK 3W FEHIR & ATH ¥ 8 =T ST o9l

X 2

183 o=l % Few & ETew N Heg & a8 A VAT F Ta4 gl =l T4

53

Tear % forT e ¥ud #, deeE & 30 o4 ERT 1 U o # Aviee w9 @ g A e far

T HPRT H 39 & A5d H =g & &

v o g AR A HATS FES F GHET IF o)

Question ID : 94891112917
Option 11D : 94891151665
Option 21D : 94891151666
Option 31D : 94891151667
Option 4 1D : 94891151668
Status : Answered
Chosen Option : 4
.41
G4 20 —[16+{25+5—2 % (12 —20=2)}] = AT FAT gET?
Ans « 1.4
X2 2
<33
X4
Question ID : 94891114648
Option 11D : 94891158592
Option 2 ID : 94891158590
Option 31D : 94891158591
Option 4 1D : 94891158589
Status : Answered
Chosen Option : 1
Q.42 2021 # Afger REE & HTET W, AT HaET & Agenst F BT ATHE U W HifEr s
AT HEHIH H YT H|
Ans -
X 1. FRe o/F (Women Love)
v 2 g7 Tf&e (Her Circle)
X s off @fFa (She Circle)
X 4. g Fiebel (Women Circle)
Question ID : 94891112907
Option 11D : 94891151628
Option 21D : 94891151627
Option 31D : 94891151625
Option 4 1D : 94891151626
Status : Answered
Chosen Option : 4




Q43 qreat #r wegh & Franfea R wmar ¥ B Reedt F ¥ A @IS ¥ T A
Ane X 1. FIAEET (Gymnosperms)

X 2 derErEer (Thallophytes)

v = 3myfaiEr (Arthropoda)

X 4 HTFEET (Angiosperms)

&7

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

94891112911
94891151643
94891151641
94891151642
94891151644

Status

: Answered
Chosen Option : 3

Q44 YWhat is the angle between two lines x +y =2 andx—y =77
Ans X 1. 45°
v 2 90°
X 3 300
X 4 60°
Question ID : 94891114668
Option 11D : 94891158670
Option 2 ID : 94891158672
Option 31D : 94891158669
Option 4 ID : 94891158671
Status : Answered
Chosen Option: 3
Q.45 %
Alt + Tab FT TF AcHhe ¢l
Ans
X . AT IE] # FE T
v 2 G 9EIAT F & T S
X s IAE 99A # Edit (vf3e) A Bt @ e
X 4. IHAE FIA H File (F5en) e oshear # @rered
Question ID : 94891112936
Option 11D : 94891151743
Option 2 ID : 94891151744
Option 31D : 94891151742
Option 4 ID : 94891151741
Status : Answered

Chosen Option : 2




Q.46 =gareT wi, F Fur & wEAE 4 ST SEE F I ae & ey § efatae f ¥ wa

FUT el 27
Ans x 1.
Iegier ekt (3eresisT) ﬁ:gm@r&ﬁtm@r@mﬁanﬁagv, At FAusfeaa g2 Fee # A
|
v
4TH T 349 TIU =0T Hgarl, 3w 3T AFEYs o
X s
TeEeA AT F U HES AT (FIHT) VAT S FAIAT F ST ;ST ¢
p
TAT F Welllcass TET F2 FTaT AT 05 & 3fEaes 1 o €, T 798 vg@ Towsh
T
Question ID : 94891112920
Option 11D : 94891151678
Option 21D : 94891151677
Option 31D : 94891151679
Option 41D : 94891151680
Status : Answered
Chosen Option : 2
Q.47 ; i B 5
et wEamat 12 3R 1 1 99 A9 A
Ans 4
vi3—
3h
X232
49
Xa 32
35
X432
25
Question ID : 94891114645
Option 11D : 94891158579
Option 2 ID : 94891158577
Option 31D : 94891158580
Option 41D : 94891158578
Status : Answered

Chosen Option :

1




Q.48

Ans

Question ID :
Option 11D :
Option 21D :
1 94891158581
Option 41D :

Option 31D

Status

94891114646
94891158582
94891158584

94891158583

: Answered
Chosen Option :

1

Q49 250 m FEr TEETEr TE IEAT F 10 s F IR FAT &1 IS Fr T AT e

Ans K175 km/h
v'2.90 km/h
< 3. 45 km/h
< 4 60 km/h
Question ID : 94891114663
Option 11D : 94891158650
Option 21D : 94891158649
Option 31D : 94891158652
Option 4 ID : 94891158651
Status : Answered
Chosen Option : 2
Q.50 v gamer #r e, IS T FE FEA 4 m, 3 m 3T 12 m ¥ 3T TEY o oF & dEs AT
Ffow, o gae F ey @1 S FehaT 87
Ans - X 1.3 m
X212 m
X34 m
V413 m
Question ID : 94891114664
Option 11D : 94891158653
Option 21D : 94891158655
Option 31D : 94891158654
Option 41D : 94891158656
Status : Answered
Chosen Option : 4




Q.51 17 3y womw 3R T F A FA 12 3R 15 R F @ W wwa §) @t o @y 3w e
& FA F B 81 5 B € T F OIF & &1 A9 w1 H TA e fhae B H 0@

Chosen Option :

qrRET?
Ans x 1. 5
X212
X3 15
Vi3
Question ID : 94891114661
Option 11D : 94891158643
Option 2 ID : 94891158642
Option 31D : 94891158641
Option 4 ID : 94891158644
Status : Answered
Chosen Option : 4
Q52 ZRrgarer AT #Y T F T F et # ¥ FiT A6 FUT T9T 872
Ans (‘]_
mwﬁmmwaﬁrm#mgﬁm Srmd vedemiet &1 o a3 Tep 9 &
Ty @ T am
X 2
Sfeamarer a1 $ gear A 1919 & Teoe v & anons o, Sed wen w R g e e
st %g F= F FOwR & eI T A
X 3
BRfSaT-s=ter sox & e & 1 gfaa o, weiya sl o ot = &
p
Tg "ear 13 i 1919@?, mmaﬁﬁmwﬁwmﬁuﬁagﬁaﬁl
Question ID : 94891112918
Option 11D : 94891151670
Option 21D : 94891151672
Option 31D : 94891151671
Option 41D : 94891151669
Status : Answered
Chosen Option: 1
Q53 sy Y srgET afteg (ICAR), 7% Redr 3R ICAR- S8 afre] seeurar Feume, fovre,
femmerer weer i TTsEr e &g (CIP), &, 9% & W & ST A §Y (IPA) g@mT
et A e TR # A 28 ¥ 31 Feadr 2021 9% #F R e
Ans +
X1 HAETEY, 9491
X 2 AR, TAEAH
V'3 TR, TE0d
X 4 frFem, TR gder
Question ID : 94891112908
Option 11D : 94891151632
Option 21D : 94891151629
Option 31D : 94891151630
Option 41D : 94891151631

Status : Answered

4




Q.54 s Hix FEgT At fr T S Reew aRd sTEeET # weaeags dofr (@fe) am e §

frafataT faweat & @ FiF o 73 o & v o w5 2

o % ST # getad seer B

&2
TE UH 3T &7 § o sfteme seR R @ sma anfEer #

X 3 g 3ca¥ H AT & ggEt AR gwEat @ o g
X o+ HAGS T 9 G (ATFE-a) el Aadr 8

Question ID : 94891112925
Option 11D : 94891151697
Option 21D : 94891151698
Option 31D : 94891151699
Option 41D : 94891151700
Status : Answered
Chosen Option : 4
Q.55 wr=fr 2021 # oF 1 o gurTES Herer REw @ (PMKVY) % Sy mor & deu § Sl
# @ Fla @ Fu oT 2
Ans X1
g Fivre T #R seaf@ar Faem carr genfaa frar ar o
X 2
Fhre 9 (e 2f20n) & e o TEd & vF Aeag Fead (T & & [T 200 § AfiE
sitezifire wfeTor T & PMKVY 3.0 & 3icda g o
X5 3U ¥ s & 600 et & o fomar amam o
W 4
ST F&T 2020 ¥ 2030 F% H WA Ny F 95 o@ SEEgant F INTT YGe FAr A
Question ID : 94891112942
Option 11D : 94891151766
Option 21D : 94891151768
Option 31D : 94891151767
Option 41D : 94891151765
Status : Answered
Chosen Option : 4
Q56 Ifq+bh=abthena:b ="
Ans X1 bl
X2hb—1:1
X31:b
vil:b—1
Question ID : 94891114658
Option 11D : 94891158631
Option 2 1D : 94891158629
Option 31D : 94891158632
Option 41D : 94891158630
Status : Answered
Chosen Option: 2




Q.57 fw v fewent & ¥ 3@ G S WOA P, S FeitRa @ & wARE (7) F T 9o

T B
11, 9, 18, 18, 32, ?
ane 134
v 2 30
X3 32
X 4 64
Question ID : 94891113087
Option 11D : 94891152348
Option 2 ID : 94891152347
Option 31D : 94891152346
Option 4 ID : 94891152345
Status : Answered
Chosen Option: 2
Q.58 Bhabha Atomic Research Centre (BARC), Mumbai announced in January 2021 that it has ‘evolved’ the design for the
country's first public-private partnership research reactor for production of
Ans 3 1. radiography medicines
/X 2. diagnostic medicines
/< 3. medical radiology
+ 4 nuclear medicines
Question ID : 94891112932
Option 11D : 94891151725
Option 21D : 94891151726
Option 31D : 94891151728
Option 41D : 94891151727
Status : Not Answered

Chosen Option :

Q.59 TmE ¥ o s Tl Fr g o o gE 2 F afEe Rt ) s e fr oo 5 b

R feed § @ w9 @ 59 9T FEH o avae 32

e X ofy FamafeeT EUE @ ET aa ¥ T wEar
v 2 ofg T=T TAT S/ T FT 9T 9T #:ar 2

X 3 gy gurTESr Tue & 0O T & e wEa B

p

ofE o7 & TsTITH SEHr HETEAT F AT =S gl

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891112929
94891151714
94891151713
94891151715
94891151716
Answered

1




Q.60 3mTET 2020 T Wt SHENT F HTHR, HRT TER TR SfURTor (NHAI) 3 2023- 2025 & faw

Ans

ey Hiy wfie wfoant & deas $r wewrar Tl & & 2028 & 9@ @ 9o 5= &
Trafala & @ wig @ afEe 747 7

V. Yot - TR
X2 fewelr - H=8
X 3. HEATETE - YT
X 4 HEFER - FAHFATT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112941
94891151764
94891151761
94891151762
94891151763
Not Answered

Q.61 ey & vs T 10% #r arfer ox 3= o sE 39 O #2120 AEw F ¥=v ge o 3% 10% @

A W BT TE F FT Hed AT BTl

Ans X 1. 3500
X 23700
& 3. 3800
v 4 3600
Question ID : 94891114660
Option 11D : 94891158637
Option 2 1D : 94891158639
Option 31D : 94891158640
Option 41D : 94891158638
Status : Answered
Chosen Option : 4
Q62 gfy FEIUN x,,%,5,Xs, ..., X, T AT X & o Fid @ [&AHeT TE g7
Ans n
i=1
n
i=1
n
=1
n
Xe ) n-02=0
i=1
Question ID : 94891114673
Option 11D : 94891158692
Option 2 1D : 94891158689
Option 31D : 94891158690
Option 4 ID : 94891158691
Status : Answered
Chosen Option : 2




Q.63 v fAfeae Fe &9 & INTRODUCED ®' RMGILWFXVW & &7 & frar =mar §1 53 smor &

POPULATION = fre 9ok & Tor@r smeem?

Ans X 1. KLKFOZGLRM
X 2 KFLKOZRGLM
v 3 KLKFOZGRLM
# 4 KLKFOZLGRM

Question ID : 94891113077
Option 11D : 94891152307
Option 2 ID : 94891152306
Option 31D : 94891152305
Option 4 1D : 94891152308
Status : Answered
Chosen Option : 3
Q64 o 3y wiw Algel F f9, w o AEE AT E R FaT ST 2
s X Herepr AteH
v 2 Frae \taH
X< 3 e JAaF
X 4 Glﬁaa AtEs
Question ID : 94891112923
Option 11D : 94891151692
Option 21D : 94891151691
Option 31D : 94891151690
Option 41D : 94891151689
Status : Answered
Chosen Option : 2
Q.65 w=F 7 F ey GF 39 AEHT AeEES (Feel) FE # ATH T, T3 29 A 2021 @
erer foram smar?
Ans
X 1. TaT |UeT (Ever Supporter)
# 2 uaT 92 (Ever Patron)
v 3 waT #Ee (Ever Given)
X 4 way #AA (Ever Green)
Question ID : 94891112906
Option 11D : 94891151622
Option 21D : 94891151623
Option 31D : 94891151621
Option 41D : 94891151624
Status : Answered
Chosen Option : 4




Q.66 SeTEteTe AEw F HGER e A ¥ R FyeE oRT & ARt F &9 F = = 22

oK
V> s
X2 it
X+ e

Question ID
Option 11D
Option 2 ID
Option 31D

1 94891112922
1 94891151686
1 94891151688
1 94891151687

Option 41D : 94891151685
Status : Answered
Chosen Option : 2

Q.67 28,000 #r Tfer T 21% AT Tohqfer =TT B @ F 12 T F TAgRE = A HC

Ans X1.22,520

X< 232,580
3 32648
/< 4 32628
Question ID : 94891114659
Option 11D : 94891158634
Option 21D : 94891158633
Option 31D : 94891158635
Option 4 ID : 94891158636
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.68
TEGIAeT T Hors{d R F4T 87
Ans S
X 1. AATEF T (mood) HT FIferd FHaT
X 2 IHTTET F FAIC &
v mfaeE un 9% w7 R s
X 4 T Flelel Sl 1 TEhIfd e
Question ID : 94891112916
Option 11D : 94891151664
Option 21D : 94891151663
Option 31D : 94891151662
Option 41D : 94891151661

Status : Answered

Chosen Option :

4




Q69 iy L Fs 15 ¢ X O &1 15 12 ¥, &t e & ¥ Fi=1 T RveT LESSON F FHg gem?
Ans 1. 1522881214

& 21522871213

< 31521881213

v+ 1522881213

Question ID : 94891113080
Option 11D : 94891152318
Option 21D : 94891152320
Option 31D : 94891152319
Option 41D : 94891152317
Status : Answered
Chosen Option : 4
Q70 R oo deyoit v+ 1,x+3,x+5x+73dTx+9 @ AET 6 ¥, A x N AT AT =T
Ans x 1. 3
X286
v 1
X 45
Question ID : 94891114670
Option 11D : 94891158678
Option 21D : 94891158680
Option 31D : 94891158677
Option 41D : 94891158679
Status : Answered
Chosen Option: 3
Q71 B, Yy wm R 1 Q, C H: T ¥ C, B 7@ 31 B, Q ¥ W @R wad @2
SRV AR -t
X2 7T & far
X3 e
X4 Rar & ag
Question ID : 94891113074
Option 11D : 94891152294
Option 2 ID : 94891152293
Option 31D : 94891152296
Option 41D : 94891152295

Chosen Option :

Status : Answered

1




Q72 zZEw Ffiest & g & 5% iy W9 & T @ TR I e ¥ afr Sftent & adee we

400 ¥, I 3 ¥z T1g Iy Hear e 2

e XK1 405 ARt

v 2 441 R
X< 3440 i
X 4 410 IR
Question ID : 94891114656
Option 11D : 94891158621
Option 2 ID : 94891158624
Option 31D : 94891158623
Option 41D : 94891158622
Status : Answered
Chosen Option : 2
Q.73
TTE secld +tanf = 2++/3 &, AT cosd FH AT AT ST
Ans ) I
iz
i
X2 2
<3 4/3
54 ﬁ
2
Question ID : 94891114671
Option 11D : 94891158683
Option 21D : 94891158681
Option 31D : 94891158682
Option 41D : 94891158684
Status - Not Attempted and

" Marked For Review
Chosen Option :

Q74 zErdr & FROT 2020 H, w ¥ ww Hw TATHE T AT Fel & Fhl?

Ans xm ﬂﬁ' n
v RgerEa
X 3 gUHE (US) 39
X 4 sfEeforms e

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

94891112905
94891151619
94891151618
94891151620
94891151617
Answered

2




U7 Fia-dr T 3 anoT e $ A9l SEar F AT JEh S 0

Ans X1- a m@_

2.
X 2 e g
W 3 e
X 4 Feire 3
Question ID : 94891112924
Option 11D : 94891151693
Option 21D : 94891151696
Option 31D : 94891151694
Option 41D : 94891151695
Status : Answered
Chosen Option : 4
Q.76 RE =Iv Yo 1 cAETEE HeIHA BT AT Feest § ¥ 3w wewm w1 e e, 7 At
(?) % TU= 9T 3T Hehar §
Ans o 1.100
X2 144
< 3 196
X 4 96
Question ID : 94891113085
Option 11D : 94891152339
Option 21D : 94891152338
Option 31D : 94891152337
Option 41D : 94891152340
Status : Answered
Chosen Option : 1
Q.77 =fy g ‘ZIGZAGGING' F Wgor AR 3ifaw el & e sea fomr =, qur var & g@y ok F
HEW & @Y, SEY 3N ST HeEW & Y, FUT HET o fur A, ar @Y 8 @ 9iwEr HE Sl |
grem?
Ans « 1A
X2 N
X3 Z
X4
Question ID : 94891113086
Option 11D : 94891152342
Option 2 ID : 94891152341
Option 31D : 94891152343
Option 4 1D : 94891152344
Status : Answered

Chosen Option :

1




Q78 YWhich of the following is NOT a good preservative for pickles?

Ans

# 1. Sodium benzoate

/X 2 Salt

o 3. Pepper

7% 4 Sodium metabisulphite

Question ID : 94891112913
Option 11D : 94891151651
Option 21D : 94891151649
Option 31D : 94891151650
Option 41D : 94891151652
Status : Answered
Chosen Option : 3
Q79 yreder FEEAT @O & wed F ReRd & ¥ i 6 U e 3
Ans A =
X 1. WIEAA FARGS 1928 H FiEd g
X 2 1857 & TagIg I 9gam TodSdT HATH HIAT AT 2
v
; ; i 2
AT HGﬂiligm?ra T o HRT & FAAAT HAH A Fgeaqur s{fAer g o
&4
o T, @ ¢F 3R U= # A 1931 # w8 7 o
Question ID : 94891112919
Option 11D : 94891151675
Option 21D : 94891151676
Option 31D : 94891151673
Option 41D : 94891151674
Status : Answered
Chosen Option : 3
Q.80
v/0.0121 + 3/0.008 =T AT FIT EEM?
Ans 1. 0.21
v 2 0.31
X 3 0.11
X402
Question ID : 94891114647
Option 11D : 94891158587
Option 2 ID : 94891158588
Option 31D : 94891158585
Option 41D : 94891158586
Status : Answered
Chosen Option : 2




Q81 Fry &r 715 FFHN FT UATEF HATS ST IR AT 3AF T T 1 3ee QAT
2 v & v F e whaed Ro oo ¥

NIV

forefafes fwed & ¥ #i7 Pftes v ¥ Rele wow 71 & 399 32
e X133k 6

X253k 3

X3 13kk2

vi13ik3

Question ID : 94891113103
Option 11D : 94891152410
Option 21D : 94891152411
Option 31D : 94891152412
Option 41D : 94891152409
Status : Answered
Chosen Option : 4

Q.82 2021 % TorT =W W= F 3eR S F FH B FEASS FH F wT F A TAT A7 IeR GG F
Tg TR IR ST TR T

e e Ry
X 2 H{TAT I
X 3 SR SRR

X4 T A

Question ID : 94891112909
Option 11D : 94891151633
Option 2 ID : 94891151635
Option 31D : 94891151636
Option 41D : 94891151634
Status : Answered
Chosen Option: 2

Q.83 Select the option in which the words share the same relationship as that shared by the given pair of words.

Zero : Number

Ans o 1. Tupiter : Planet

< 2. Plant : Animal
/< 3. Temperature : Celsius

/< 4. Breeze : Storm

Question ID : 94891113083

Option11D:
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891152332
94891152331
94891152330
94891152329
Answered

1




¥ 14243+ +49+ 50 F T AT FSC
Ans X 1. 2525

/< 2. 2550
< 3. 5050
v 4 1275
Question ID : 94891114644
Option 11D : 94891158575
Option 21D : 94891158574
Option 31D : 94891158573
Option 41D : 94891158576
Status : Answered
Chosen Option : 4
Q.85 zfErr 7 vfwms et % Fered (NfATA-ASEAN) & TEy # AeAfaf@d # € i @ wue e 32
Ans ¢
v FTE AT A HE TeEw At ¥ gE o
&2
TR T FUTTET 8 IFTEA 1967 FH dHim H gE o
503
2019 &% Wed SAHRT F AN, $HF Werd it & FE; a7 B
p
TS T TF T 87 & i fremw, aenfes sy ot mieptes few & o5 ae
Question ID : 94891112935
Option 11D : 94891151737
Option 21D : 94891151738
Option 31D : 94891151740
Option 41D : 94891151739
Status : Answered
Chosen Option : 2




Q.86 #rr & 7 FAENr F AATEF TRT AR HET IEY TIOF FeE F 3o EfFT

oo o & &8 3t of ¥ v ofte ¥ groars faw e §) oftew # 5 weF o, 3t g=iw ge 10

3R FT o

o HEAT 1 |2 (3 |4 |5
a7 ¥ grears 10 |9 [8 |6 |8
afr F gream 5 |7 |10 |9 |9

afy =7 gl # RftsmE o= & T 84% 3% g9 T o, ar 9f fa et o Rftdee

9 F 3ERA T
Ans x 1. 3
X 25
W32
X4 4
Question ID : 94891113089
Option 11D : 94891152353
Option 2 ID : 94891152356
Option 31D : 94891152355
Option 4 1D : 94891152354
Status : Answered
Chosen Option : 3
Q.87 = & = TEEr F AAEF TRT AT AR sEH FET wet F seaw Efsm
o arferrr & &f 3t afr & oo 9leT F g o e ) wdiem # 5 9 O, 3k wedew v 10
Ecal-ag
o TEAT 1 2|3 |4 |5
a# F grars 0 |9 |8 |6 |8
4 F greaw 5 |7 |10 |9 |9
s g 1 & & i 2% % o A ow wF g 3 & &% i 2f % e s & s
T 8
Ans X 1.5:9
v25:86
X33:5
X47:86
Question ID : 94891113090
Option 11D : 94891152357
Option 2 ID : 94891152358
Option 31D : 94891152360
Option 4 ID : 94891152359
Status : Answered
Chosen Option : 2




Q.88 & & 7 FAERr F AEF TRT R AHET IEY TERT ged F 3o ST

T arfem & A sk 98 & v gfteT & groge fow e #) qfter # 5 oA 9, 3R 93 wea 10

FRT FT o

g9 TEAT 1 213 |4 |5
7 F ganE 10 |9 [8 |6 |8
9 F areaiE 5 |7 |10 |9 |9

ar=t weAr F 3y & grearer @ osea e 27

ae X110
X229
X 3 40
v 8
Question ID : 94891113091
Option 11D : 94891152364
Option 2 ID : 94891152361
Option 31D : 94891152362
Option 41D : 94891152363
Status : Answered
Chosen Option : 4
Q.89 3Ry &r o AFHHr F eUHEH TRT A AW IEG TR e F Fea% T
o anfermr & 7 sk 98 & v afteT F groge few e #) qfveTr # 5 oA 9, 3R 93 wea 10
HeRT FT o
o TEAT 1 |2 (3 |4 |5
I & ureanR 10 (9 |8 |6 |8
ar F wrarE 5 |7 |10 |9 |9
TfE T 9o # 30T @ F BC sgmas 70% e wfew, o af LT = e )
weA # et @
Ans
X1 AT 1,0
X2 &AW 0, 1
s w1, 1
KXo smAT 1, 2
Question ID : 94891113092
Option 11D : 94891152366
Option 21D : 94891152367
Option 31D : 94891152368
Option 41D : 94891152365
Status : Answered
Chosen Option : 3




Q.90 select the option that is related to the third term in the same way as the second term is related to the first term.

Modern : Ancient :: Noise : ?
Ans  of 1. silence
/< 2. Unorganised
#< 3. Chaos
/< 4. Song

Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891113079
94891152314
94891152316
94891152313
94891152315
Answered

1

Q91 zfr 96524 @12=16, 3T 21 @57 $19=24 % @36 $ 6 @ 54 F AT =T gran?

A X164
X 2 62
'3 80
X 4 66
Question ID : 94891113097
Option 11D : 94891152387
Option 2 ID : 94891152386
Option 31D : 94891152385
Option 41D : 94891152388
Status : Answered
Chosen Option : 3
Q.92 fw v et # ¥ 3H Ug B UH RSC, S PSS @ # wARES (?) F T W A FHar
il
3L12, 5J10, 7H8, 9F6, 11D4, ?
Ans X 1. 1376
X 2 13B4
v 3 13B2
X 4 9B6
Question ID : 94891113095
Option 11D : 94891152377
Option 2 ID : 94891152380
Option 31D : 94891152379
Option 4 1D : 94891152378
Status : Answered
Chosen Option : 3




Q.93 frifera o APAl T A Een T §, AR s mear T A, B, C ¥R D F ¥ v o B

eI HIFTeT I TEEI e
O—o| 0—0| #—0| 5 _g|0—n | B—0)
—0| 0—0| g__p O 0—n
35 &0 5[ a=8 a=| 6o
A B C D
Ans x 1.6
v 2D
<3 A
X 4B
Question ID : 94891113100
Option 11D : 94891152399
Option 2 ID : 94891152400
Option 31D : 94891152397
Option 41D : 94891152398
Status : Answered
Chosen Option: 2
Q.94 v w1v fwent # ¥ 37 G F 9O Hiaw, S Reifa g & geAed (?) & U 9% A
TR
2,4, 10, 30, 105, ?
ans X 1. 525
X2 315
V'3 420
X 4 210
Question ID : 94891113088
Option 11D : 94891152352
Option 21D : 94891152351
Option 31D : 94891152350
Option 4 ID : 94891152349
Status : Answered
Chosen Option : 3
Q.95 fw s fawedt & 3+ et & wEa Hifew S Tl g & e v nafeEat & 5w v
Theraie X w5, Ted Ted #R gy vg F $9 # gy, S A =i 98 F 99 F =y & @
2 AT
AT ? 27 E@ET
Ans y
v . THET, SiEdr
X 2. S[dT, gegd
X 3. Oy AT
X 4 WIS, HTeIOT
Question ID : 94891113076
Option 11D : 94891152301
Option 21D : 94891152302
Option 31D : 94891152303
Option 4 ID : 94891152304
Status : Answered

Chosen Option :

1




Q9 uff3x3=63+3=0,3-3=933+3=1% A 6-4+8+1x3F AT T g?

ans X178
X 2 21
v 19
x40
Question ID : 94891113102
Option 11D : 94891152407
Option 2 ID : 94891152406
Option 3 ID : 94891152408
Option 4 ID : 94891152405
Status : Answered
Chosen Option : 3
Q.97 faw = Fue R Frewst & camEE w1 FUA F & T TAEE F G AAS g, o9 &
AT A9 3T ¥ BT 5 B &, Bow fAifew & FwiF @ (@) Ty T v wwEt @ s
T H 9 FAT § (F D)
U
1. mefr R AT )
2. 7T WFE sl
oy
L sl A wiEafea E
1. T wfke e §
Ans
X ar ey | 3 & Ty || 9T F:ar gl
v 2 Faer TSy || 9o T 2
X 3 Fger TreEs | g FLaT B
X4 ey | 3T 1| @t 9o = 2
Question ID : 94891113094
Option 11D : 94891152376
Option 21D : 94891152374
Option 31D : 94891152373
Option 41D : 94891152375
Status : Answered
Chosen Option: 2
Q.98 gfy ‘B & 3+, D @ MY L, C oW HT st A @ oA o §, & wefalEe see W oaw
FT FET?
10A4D16B2C6
Ans  of 1. 38
X224
X318
X 420
Question ID : 94891113081
Option 11D : 94891152322
Option 2 ID : 94891152324
Option 3 ID : 94891152321
Option 4 1D : 94891152323
Status : Answered
Chosen Option : 1




Q.99 ww wlem &, FE 3ol W &I 3% RU A9 £, 3 98F o0 3ok W SSEERT U HE e o
T ¥ v R F 76 9o g v 3 30 144 e B 3w R F Ed ew wl e 2

ans X153
X2 60
v3 55
X+ 58

Question ID : 94891113099
Option 11D : 94891152393
Option 2 1D : 94891152396
Option 31D : 94891152395
Option 4 1D : 94891152394
Status : Answered
Chosen Option: 3

Q.100 P st e & 9F TR i HT 6 km g =onar §1 R 97 T Fr 3T 1 km WE TEE
JEAFET T §, F6l § T FAw A & 0 A gga 2 km T T 8, R ST g5 2 km
T S SR g ¢, R A qE 1 km T T A SO Tgedn ¢ 3 Ao gel
T Y HIHT B FTF 3 BT 5 km I TEE U [T F ST

IIIFT AHFNT & HUR ], w7 J & Fia @ Gwew wér 7

Ans ‘,1.

Ife P Y& & 1 km aftaw &1 3R I Sww, TR S g5 3 km AT, @ 98 FAes gg smeem)
X 2. AT SR § Seal-afvad fGar &7 g
&3

uﬁPmm#a‘@wﬁaﬂTSkmmm,ﬁwaﬁgﬁgkmsm,?-fragi'@i?qg?r
ST

p
P & §gUa 38 Faoa # ARad dlt W 7 km & 7 gt W

Question ID : 94891113101
Option 11D : 94891152402
Option 21D : 94891152403
Option 3 ID : 94891152401
Option 41D : 94891152404
Status : Answered
Chosen Option : 1
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